[D:9:9:9:9:9.9:0:9:9.:9.9.9:9.9.9.9.:9.9.9.9.0.9.9.0.9:9.9.:0.0.9.0.0.9.0.0.:0.9.9.0:0.9.9.0.:0.9.9.0.:0.9.9.0.9.9.9.0.0.9.9:0.0.9.0.:0.0.0.0:0.9.0:0:0.9.0:0:0.9.9:0.0.9.0:0.0.9.9:0.9.9.9:0.0.0.:0.0:4
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6700505-00001XX
Diff0l1 for No.9594

No()[:[f(x):{3x2—5 . x<=4D, ,No()2:(f(x):{kx+63 . x<-4D

4x+k , x>4 3X+k ;o x>=-4
S5x+b ;X <=-3 ax+32 ; x<=-H4
No03 =| f(x)= Prax—-13 ; -3<x<2||, ,NoO4=|f(x)=| bx+a ; -4<x<6
3x-15  ; x>=2 3x+b ; x>=6
No05 =[f(x)=(x-1+7]
flx)=7x"-2
a=3 a=4 a=28 a=4
NoO6=| b=32 | ,No()7:[b:2}, ,NoOS:[b:J, ,No()8:[b:5}
c=3.1
d=3.01
45 /
/
/
//
40 /
/
35- /
30+ /
/
//
25 /
/
/
20- /!
//
15 //
/.//
104 -
5,
1 1 2 3 4 5 6 7 8
5
=101
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXKXKXKKKXM6/1-6700505-00002XX
Diff0l1 for No.9608

[ {8x+6 ; x<3D ( {kx+42 : x<-4D
NoOIl =| f(x)= , ,No02 =| f(x)=

kxX*+3 ; x>=3 24k x>=-4
Dibyx . x<-2 ax+20 ; x <-4
NoO3=|f(x)=[3x"+5x-6 ; -2<=x<4||, ,No04d=|f(x)=|bx+a ; -4<=x<3
¥ +a N x>=4 6x+b x>=3
No0S =[f(x)=x+6]
fx)=7x"+3
a=4 a=2 a=4 a=238
NoO6=| bh=42 | ,N007=[b:4} 7N008:[b:2}’ ’N008:[b:2}
c=4.1
d=401
45- /
40 /
/
35 //
/
30+ //
/
/
/
25 /
/
/
” /
15 /
e
e
10- o~
5,
5 i 3 3 4 5 & 1 3
-54
=101
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KXXKXKKKXM6/1-6700505-00003XX
Diff0l1 for No.9646

Nom:(f(x):{kxz” ’ X<3D’ ’Noozz(f(x):{kxz—lfi ; x<-gD

6x+10 ; x>=3 6x+k ; x>=-2
bxX*+6x+3 ;| x<=-4 bx+11 ; x<=-3
NoO3=|f(x)=| 3x*+a co4d<x<=3]) ,NoO4=|f(x)=| ax+b ; -3<x<=2
—13+x N x>3 dx+a ; x>2

No05 =[f(x)=(x-2)+7]

f(x)=3x"+5
a=2 a=2 a=2 a=238
NoO6=| bh=22 | ,N007=[b:3} ’N008:[b:3}’ ’N008:[b:2}
c=2.1
d=2.01
45- "/
40+ //
/
35 /
/
/
30- /
y
25- /
/
/
» /
/
/
15 //
P
oI /
T~ /./
\‘-——.m_.-—'
5,
- e T B s e
-54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6700505-00004XX
Diff0l1 for No.9649

( {3x+k ; x<4D ( {5x+k ; x<:-4D
No0Ol =| f(x) = , ,No02 =| f(x)=

422 ; x>=4 kx*=50 ; x>-4
[ x+a ; x<-4 bx+22 ; x<-4
No03 =| f(x)= bx'—=Tx—66 ; -4<=x<=2|| ,NoO4=|f(x)=| ax+b ; -4<=x<4
3x° -84 ; x>2 3x+a ; x>=4
No05 = [f(x)=x"+3]
[f(x)=5x"—4
a=2 a="7 a=5 a=3
NoO6=| b=22 | ,No()7:[b:4}, ,NoOS:[b:J, ,No()8:[b:4}
c=2.1
d=201
45 7
/
40 /-,/
35- /
/
/
301 A
/
/
//
25 /
//
/
20+ /,
15 /
s
104 //
e
5 /0//
1 1 2 3 4 5 6 7 8
-54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXXKXKKKXM6/1-6700505-00005%XX
Diff0l1 for No.9669

[ {2x+5 ; x<=2D ( {kx+26 : x<-zD
NoOIl =| f(x)= , ,No02 =| f(x)=

A% +k ; x>2 2% +k ; x>=-2
X +a ; x<-2 ax+23 ; x<-3
NoO3=|f(x)=|3x"+bx-3 ; -2<=x<=3|} ,NoO4=| f(x)=| bx+a ,; -3<=x<35
Tx+12 x>3 dx+b g x>=S
No05 =[f(x)=x>+7]
flx)=3x"+5
a=4 a=4 a=>5 a=17
NoO6=| bh=42 | ,N007=[b:5} 7N008:[b:6}’ ’N008:[b:8}
c=4.1
d=4.01
45 /
/
/
40 /
//
351 //
30 //
/
/
25 //
/
20 //
/
154 /
yd
e
10 /
5,
- e T B s e
-54
-10-
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXKXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXXKXKKKM6/1-6700505-00006XX
Diff0l1 for No.9717

[ {4x+k ; x<3D ( {kx+28 : x<-2D
NoOI =| f(x)= , ,No02 =| f(x)=

2x-7 ; x>=3 4x*+k ; x>=-2
2 +bx+4 s ox<=-2 ax+17 ; x<-3
No03=|f(x)=| 32+7x s 2<x<A4]]| ,NoO4=|f(x)=| bx+a ; -3<=x<=3
ax*+12 R x>=4 6x+b x>3

No05 =[f(x)=(x-1)*+5]

f(x)=4x"+5
a=3 a=3 a=73 a=238
NoO6=| b=32 |, ,N007=[b:6} 7N008:[b:7}’ ’N008:[b:4}
c=3.1
d=3.01
45- /
/
/‘/
40- /
//
351 //
/
30+ //
251 /
//
20+ //
/
V4
/
15 /
e
10 /,//
//
57\___________,/
; T T S e Dy
-54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXKXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6700505-00007XX
Diff0l1 for No.9763

No()]:(f(x):{zx2+k ; x<=4:|j’ ,Noozz(f(x):[;“k : x<:-3D

5x+17 ; x>4 X-31 ; x>-3
2x¥+5x+a ;o x<=-4 ax+13 ; x<-4
No03=|f(x)=| 28+bx ;s 4<x<2|]| ,NoO4=|f(x)=| bx+a ; -4<=x<2
¥ +30 s x>=2 4x+b x>=2

No05 =[f(x)=(x-3)+3]

fx)=7x" -8
a=4
a=5 a="7 a=6
No06 = b=42 , s No()7:|:b :4i|, s No08 :[b _ 4], 5 N008:|:b :4i|

c=4.1

d=4.01
45~
40+
35

30- /,{/

251 -

20- S

15 /////

104 s

=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6700505-00008XX
Diff0l1 for No.9877

NoOI:[f(x):{3x2+k ; X<=4D, ’N002:[f(x):{4x2+k ; x<:_gD

8x+11 ; x>4 kx+25 ; x>-2
Yrx+a ;o x<=-2 bx+22 x<-3
NoO3=|f(x)=|px*=11 : -2<x<4|} ,NoO4=|f(x)=| ax+b ; -3<=x<35
5+4x ;  x>=4 3x+a ; x>=5

No05 =[f(x)=(x-1)+5]

fx)=4x"+7
a=3 a=6 a=>5 a=3
No06=| =32 | ,N007=[b:7} 7N008:[b:7}’ ’N008:[b:4}
c=3.1
d=3.01
45- /
/
/‘/
40- /
//
35 //
/
30+ //
251 /
//
20+ //
/
/
/
154 //
/
e
10' //
~
57\_________/0/
. L S A
-54
=10+

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXXKXKXXKXXXKXKXKXXKXXKXKXKXKKXKXKXKXKKXKXKXKKKKXKXKKKKXK
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6700505-00009XX
Diff0l1 for No.9911

4x+10 ; x<3 Tx+k ; x<-4
NoOI =| f(x) = 2 , , No02 =| f(x) = 2
kx*=5 ; x>=3 kx“—58 ; x>=-4

bx’—1 R x <-4 ax+18 ; x<=-2
No03 =| f(x)= 47 +4 x ;, A<=x<=2]| ,NoO4=|f(x)=| bx+a ; -2<x<35
3% +ax+53 x>2 4x+b ,; x>=5

No05 =[f(x)=(x-3)+2]

fx)=5x"-2
a=2
a=3 a=2 a=38
No06 = hb=22 , ,No()7:|:b:2i|, ,N008=|:b: 6i|’ 3N008:|:b:2i|
c=2.1
d=2.01
45
40
35
/
30+ /

¥

20 /
15 //

10\ -

=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXKXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXKXKXKKKXM6/1-6700505-00010XX
Diff0l1 for No.10027

No()l:[f(x):{z)H_SS ; X<4D, ’N002:[f(x):{4x2+k ; x<:_4D

4x+k ; x>=4 kx+89 ; x>-4
bx'—4 N x<-3 ax+15 x<-3
No03 =| f(x)= 8+x s 3<=x<=4||, ,NoO4=|f(x)=| bx+a ,; -3<=x<=3
3%+3x+a x>4 4x+b x>3

No05 =[f(x)=(x-2)+3]

fx)=7x"-4
a=4 a=3 a=6 a=4
NoO6=| b=42 |, ,N007=[b:7} ’N008:[b:3}’ ’N008:[b:2}
c=4.1
d=4.01
45- /
40- /
//
35- //
/
/
30- /
/
25- //
y
20- ).(/
15- /
e
10 e
P
5| ,/
\\\\\‘H ‘ff////
y" p 3 3 4 5 6 7 8
5
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXX KX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6700505-00011XX
Diff0l1 for No.10063

No()]:(f(x):{kx_3 ; x<:2D’ ,No()2:(f(x):{kx2_76 . x<-4D

2 -1 ; x>2 4x+k ; x>=-4
2 ;o o x<=-3 ax+22 x<=-4
No03 =| f(x)= Sx+b ; 3<x<4]|, ,NoO4=|f(x)=| bx+a ; -4<x<=4
ax’+7x-14 ; x>=4 3x+b x> 4

No05 =[f(x)=(x-3)+6]

fx)=2x"-3
a=3
a=2 a=2 a=2
No06 = b=32 | ,N007—[b:3}’ ,No()8—[b:7}, ’N008_[b:5}
c=3.1
d=3.01
45
40

35 A
30- /

251 -
20 /

15+

101 S -

=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6700505-00012XX
Diff0l1 for No.10120

No()l:[f(x):{sx-HI ; X<2D, ’NO()Z:[f(x):{2x2+k ; x<:_3D

kxX*+5 ; x>=2 kx+42 ; x>-3
X +5x+b N x<=-3 ax+10 x<-2
NoO3=|f(x)=| 1l1+4x , -3<x<=4||, ,NoO4=|f(x)=| bx+a ,; -2<=x<2
ax’—5 N x> 4 S5x+b x>=2

No05=[f(x)=(x-1)+1]

fx)=2x"-3
a=4 a=28 a=>5 a=>5
NoO6=| b=42 |, ,N007=[b:2} 7N008:[b:7}’ ’N008:[b:4}
c=4.1
d=4.01
45~ /
/
/
40 /
//
//
35 //
J/
30+ /
/
25 /
/
/
20+ //
//
15 /
V4
//
10+ e
e
d
5 /
prd
e
- R NS
-54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6700505-00013XX
Diff0l1 for No.10367

(=7 ) (e T
No0Ol =| f(x) = , ,No02 =| f(x)=

2x7-2 ; x>4 kx*=73 ; x>-4
x—2 : x<-4 bx+19 ; x <=-4
No03 =| f(x)= bx*—2x-30 ; -4<=x<=2|| ,NoO4=|f(x)=| ax+b ; -4<x<=3
L 3x°+a : x>2 Sx+a x> 3
No05 =[f(x)=(x-2)"+6]
[f(x)=7x+5
a=3 a=5 a=3 a=3
NoO6=| b=32 | ,No()7:[b:8}, ,NoOS:[b:J, ,No()8:[b:8}
c=3.1
d=3.01
45- /
ﬂ/
40 f
//
35 /
/
//
/
30+ /
251 /
/
/
20- /
/
i
15- #
-
10—\ /
5,
1 1 2 3 4 5 6 7 8
-54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6700505-00014XX
Diff0l1 for No.10372

[ [8x+k ; x<=2D ( {kx+26 : x<-2D
NoOI =| f(x)= , ,No02 =| f(x)=

4x°+5 ; x>2 2x%+k ;o x>=-2
4x+a ;oox<=-2 bx+16 ; x<=-H4
No03 =| f(x)= 2x%-20 ; 2<x<4]|, ,NoO4=|f(x)=| ax+b ; -4<x<=2
3x°+bhx—28 ; x>=4 Tx+a x>2
No05 = [f(x)=x"+3]
f(x)=5x"-3
a=4 a="7 a=28 a=38
NoO6=| b=42 | ,No()7:[b:2}, ,NoOS:[b:J, ,No()8:[b:2}
c=4.1
d=401
45 7
/
40 /-,/
35- /
/
/
/
301 A
/
/
/
251 -
//
20- A
15 //
104 //
e
5 //
1 1 2 3 4 5 6 7 8
51
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6700505-00015XX
Diff0l1 for No.10375

No()]:(f(x)zrﬁk : x<2D, ,NoOZ:(f(x):{kxz_'?ﬂ ; x<-3D

3¢ -3 ; x>=2 Tx+k ; x>=-3
3% +a R x <-4 ax+28 ; x<=-4
No03 =| f(x)= 54+bx ;, A<=x<=3|| ,NoO4=|f(x)=| bx+a ; -4<x<35
2x°—2x+45 x>3 dx+b ; x>=5
No05 =[f(x)=(x-2)+6]
f(x)=6x"-7
a=3 a=5 a=28 a=3
NoO6=| b=32 | ,No()7:[b:8}, ,NoOS:[b:J, ,No()8:[b:4}
c=3.1
d=3.01
45- /
/
/
/
40 f
//
35 /
/
F/
30+ /
/
25+ /
/
/
20- /
/
i
15- #
-
10—\ /
5,
1 1 2 3 4 5 6 7 8
-54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKM6/1-6700505-0001 6XX
Diff0l1 for No.10426

No()l:[f(x):{4x+2 ’ "<3D, ,N002:(f(x):{2x2+k ; x<=_3D

kx*—4 ; x>=3 kx+38 ; x>-3
2+6x N x<=-4 ax+10 ; x<=-2
No03 =| f(x)= 2x%+b ; A4<x<=3]| ,NoO4=|f(x)=| bx+a ; -2<x<=2
FY+ax—-60 x>3 Sx+b x>2
No05 =[f(x)=x+5]
f(x)=3x"+38
a=2 a=5 a=6 a=17
NoO6=| b=22 | ,No()7:[b:3}, ,NoOS:[b:J, ,No()8:[b:5}
c=2.1
d=2.01
45- /
/
40 //
/
35 £
//
301 -
/
/
//
25+ /'
s
20
15- //
/
10- //
54—
1 1 2 3 4 5 6 7 8
5
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXKXKXKKKXM6/1-6700505-00017XX
Diff0l1 for No.10628

No()l:[f(x):{:;xz_“ ; X<Z3D’ ,N002:(f(x):{2x2+k ; x<_3D

kx+2 ; x>3 kx+34 ; x>=-3
-3+bx ; x<-4 bx+17 ; x<=-2
No03=|f(x)=| x*-23 ; o4<=x<2||, ,NoO4=|f(x)=|ax+b ; -2<x<35
ax’—4x-23 ; x>=2 3x+a x>=15
No05 =[f(x)=(x-3)+3]
f(x)=6x"+7
a=2
a=6 a=6 a=38
NoO6=| b=22 | ,No()7—[b:3}, ,N008—[b:7}, ,Noog_[b:J
c=2.1
d=2.01
45-
40
351

30- /,{/

251 -
20- //
15- /

104 o %

=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6700505-00018XX
Diff0l1 for No.11408

No()l:[f(x):{zxz_l ; x<=3D, ,N002:(f(x):{3x2+k ; x<_4D

kx-1 ; x>3 kx+68 ; x>=-4
¥ —5x+3 N x<-3 bx+27 ; x<=-4
NoO3=|f(x)=| 42+bx , -3<=x<=4||, ,NoO4=|f(x)=| ax+b ; -4<x<35
ax’*+14 x>4 3x+a ; x>=95

No05 =[f(x)=(x-1)+5]

f(x)=4x"+3
a=2 a=4 a=6 a=2
No06=| b=22 | ,N007=[b:6} 7N008:[b:7}’ ’N008:[b:7}
c=2.1
d=2.01
45- /
/
/
40- /
//
35 //
/
30+ //
251 /
e
20+ /
/
/
/
154 /
/
e
10' //
~
57\_________/0/
- L S A
-54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6700505-00019XX
Diff0l1 for No.11560

( {3x+k : x<3D ( {2x+k ; x<—3D
NoOI =| f(x)= R , No02 =| f(x) =

4x°+2 ; x>=3 kx*—54 ; x>=-3
1+6x s x<=-2 ax+16 x <-4
No03 =| f(x)= 2x%+a ; 2<x<=4]|]| ,NoO4=|f(x)=| bx+a ; -4<=x<=2
b +5x-23 x>4 Tx+b x>2
No05 = [f(x)=x"+3]
[f(x)=8x-7
a=4 a=4 a=5 a="7
No06=| b=42 | ,N007:[b:6}, ,NoOS:[b:J, ,No()8:[b:6}
c=4.1
d=4.01
45 7
/
40 /-,/
35- /
/
/
/
301 A
/
/
//
25 /
//
20- A
15 //
104 //
yd
5 //
1 1 2 3 4 5 6 7 8
51
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXKXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXXKXKKKXM6/1-6700505-00020XX
Diff0l1 for No.11806

Ab01=[ﬂx):{kx2+5 ; x<=2}} ,AbOZ:(ﬂx):{kx+24 : x<:-{D

8x—3 ; x>2 3X+k ;x> -2
X+a ; x<-3 bx+16 ; x<=-2
No03=|f(x)=| x*-11 s -3<=x<4||, ,NoO4=|f(x)=|ax+b ; -2<x<4
3x%+bx-23 ; x>=4 Sx+a ; x>=4
No05 =[f(x)=(x-1+7]
f(x)=5x"+7
a=3 a=38 a=5 a=38
NoO6=| b=32 | ,No()7:[b:7}, ,N008:[b:7}, ,No()8:[b:2}
c=3.1
d=3.01
45- /
//
40 /
/
35- /
30+ //
/
//
25+ //
/!
/
20- /!
//
15- -
e
pd
104 ///‘/
‘\Hahq_—__ﬂﬂ”,ir///
5,
1 1 2 3 4 5 6 7 8
51
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXKXKXKKKM6/1-6700505-00021XX
Diff0l1 for No.12219

( {kx—3 N x<=4D ( {6x+k ; x<—4D
No0l =| f(x) = , s No02={f(x)=

2x°-7 ; x>4 kxX*—84 ;. x>=-4
bx’+4 ; x<-3 bx+10 ; x<=-3
No03 =| f(x)= Tx+a ; 3<=x<4]|, ,NoO4=|f(x)=| ax+b ,; -3<x<2
X +4x+39 ; x>=4 3x+a x>=2

No05 = [f(x)=x"+4]

fx)=3x"+4
a=2 a=5 a=2 a=4
No06=| b=22 | ’N007:[b:8}’ 7N008:[b:6}’ ’N008:[b:2}
c=2.1
d=2.01
45- /
40- /
/
351 /
//
30 /-’
/
/
25 //
/
20 //
154 /
//
104 //
I —
y 3 3 3 4 5 6 7 8
-5
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXKXKXKKKXM6/1-6700505-00022XX
Diff0l1 for No.12954

( {3“49 ; x<=4D ( {6x+k ; x<=—4D
NoOI =| f(x) = , , No02 =| f(x) =

kx*=3 ; x>4 kx*—84 ; x>-4
3%+l . x<-4 bx+12 ; x<=-2
NoO3=|f(x)=|px*—x+13 ; -4d<=x<3|} ,NoO4=|f(x)=| ax+b ; -2<x<2
19+ax R x>=3 Tx+a ; x>=2

No05 =[f(x)=(x-2)+1]

fx)=5x"+8
a=2 a=2 a=6 a=238
No06=| b=22 | ,N007=[b:4} 7N008:[b:4}’ ’N008:[b:7}
c=2.1
d=2.01
45-
/
/
40 /
/
/
/
35+ /
//
30 /
/
//
/
25 /
y
20- /
15 /
/S
10 pd
P
SW\\\ _//,/
- T 32 3 a4 3 & 7 &
-5
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6700505-00023XX
Diff0l1 for No.12964

No()l:[f(x):{3x+6 : "<2D, ,No()2:(f(x):{3x2+k ; x<_2D

kx+4 ;ox>=2 kx+27 ; x>=-2
3x+a ;o ox<=-2 bx+16 ; x<-3
NoO3=|f(x)=| 31+bx ;o 2<x<A4|]| ,NoO4=|f(x)=| ax+b ; -3<=x<3
Y 4+2x+35 ; x>=4 Sx+a x>=3

No05 =[f(x)=(x— 1) +4]

f(x)=6x"+5
a=3 a=6 a=73 a=17
NoO6=| b=32 |, ,N007=[b:5} 7N008:[b:2}’ ’N008:[b:5}
c=3.1
d=3.01
451 /
/
/
/
40+ /‘
/
/
351 //
/
30+ /
254 //
/
20+ //
/
/
V4
154 //
e
104 pd
-~
57‘~\_ ﬂtf/,///
- i3 3 4 5 6 1 8
-54
=10+
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6700505-00024XX
Diff0l1 for No.12971

No()l:[f(x):{zx2+k ’ x<=3D, ,N002:(f(x):{3x2+k ; x<_3D

Sx-2 ; x>3 kx+43 ; x>=-3
5x+a ;ox<=-3 ax+23 ; x<=-4
No03=|f(x)=|3x"+x-34 ; -3<x<2|| ,No0d=|f(x)=| bx+a ; -4<x<4
b*-28 ; x>=2 4x+b ;o x>=4
No05 =[f(x) =x>+3]
flx)=5x"-4
a=2 a=28 a=2 a=6
No06=| b=22 | ,N007=[b:4} 7N008:[b:4}’ ’N008:[b:7}
c=2.1
d=2.01
45- /
/
40- ,i/
351 //
/
/
/
30 /
/
/
/
25 /
//
20 //
15 //
101 ,//
e
5 //
- R NS
-54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKX XXX KXXKX XXX KX XXX XXX KX XXX KKXKXKXKKKXM6/1-6700505-00025XX
Diff0l1 for No.13023

No()]:(f(x):{4x2+7 ; x<4:|j’ ,Noozz(f(x):[2x+k ; x<=-4D

kx+63 ; x>=4 kx*’—-83 ; x>-4
3 +ax ; x<-2 ax+20 x<-3
No03 =| f(x)= 3x%-19 ; -2<=x<=3|| ,NoO4=|f(x)=| bx+a ; -3<=x<4
2% +x+b x>3 Sx+b x>=4
No05 =[f(x)=(x-3)+5]
f(x)=7x"-4
a=4
a=2 a=17 a="7
NoO6=| b=42 | ,No()7—[b:5}, ,NoOS—[b:J, ,No()8—[b:2}
c=4.1
d=4.01
45-
40
35- //

30 //

25 //
20+ A
151 /

10 > -

=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXKXKXKKKM6/1-6700505-00026XX
Diff0l1 for No.13033

No()I:[f(x):|:4x2+k ; x<=4:|j, ’N002:[f(x):|:kx+20 ; x<-gD

3x+47 ; x>4 2% +k ; x>=-2
bx'—4 ; x <-4 bx+17 ; x<=-H4
No03=|f(x)=|3x*+ax—48 ; -d<=x<=3||, ,NoOd=|f(x)=| ax+b ,; 4<x<3
48 +2 x ; x>3 3x+a x>=3

No05 =[f(x)=x*+7]

fx)=3x"+4
a=2 a=2 a=4 a=4
No06=| b=22 | ,N007=[b:4} 7N008:[b:7}’ ’N008:[b:5}
c=2.1
d=201
45 /
/
/
40 /
//
351 //
/
30 /
/
//
25 /
/
20 //
/
154 /
yd
/
10_ ,///)‘/
5,
- T 32 3 a4 3 & 7 &
-54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKM6/1-6700505-00027XX
Diff0l1 for No.13197

( {3x+k : x<=2D ( {2x+k ; x<—4D
NoOI =| f(x)= R , No02 =| f(x) =

4 -1 ; x>2 kx*—38 ; x>=-4
3 +bx—2 x <-4 bx+8 x<-2
No03=|f(x)= X +a co4d<=x<=3|]|, sNoO4=|f(x)=|ax+b ,; -2<=x<=2
26 +3x : x>3 3x+a ; x>2

No05 =[f(x)=(x—1)*+4]

fx)=5x"+3
a=4 a=4 a=6 a=6
No06=| b=42 | ,N007=[b:6} 7N008:[b:3}’ ’N008:[b:5}
c=4.1
d=4.01
451 /
/
/
/
40- /
/
/
35 //
/
30 /
25 //
/
20- )'/
/
/
V4
15- //
e
10 pd
~
51 /./
y" p ) 3 4 5 6 7 8
-54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6700505-00028XX
Diff0l1 for No.13907

NoO]:[f(x):{2x2+k ; x<3:|j’ ’N002:(f(x):{3x+k ; x<-4D

5x  ; x>=3 kx*—42 ; x>=-4
3x°+h R x <-4 ax+12 x<=-2
NoO3=|f(x)=| 80+7x ;, A<=x<=2]| ,NoO4=|f(x)=| bx+a ,; -2<x<=3
Crax+82 x>2 dx+b x>3

No05 =[f(x)=(x-3)+1]

fx)=7x"-6
a=4
a=6 a=3 a=4
No06 = b=42 , ,No()7:|:b:2i|, ,N008=|:b: 7j|, 3N008:|:b: 5i|
c=4.1
d=4.01
45~
40
35

301 A
251 /i
20- A

15 /
10+ /

=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6700505-00029XX
Diff0l1 for No.13991

( {7x+k ; x<3D ( {6x+k ; x<:-2D
No0Ol =| f(x) = , ,No02 =| f(x)=

4x*+3 ; x>=3 kX =21 ; x>-2
2x*-3x+b ; x<=-2 bx+16 ; x<-2
NoO3=|f(x)=| ax*+4 so2<x<4|) ,NoO4=|f(x)=| ax+b ; -2<=x<4
24 +7x : x>=4 Sx+a x>=4

No05 =[f(x)=(x-3)+3]

fx)=7x"+2
a=4
a=3 a=38 a=s
No06 = b=42 , ’N007:|:b: 5i|, ,N008=|:b: Sji, 3N008:|:b: 7i|
c=4.1
d=4.01
45
40
35

30- /,{/

251 -
20- S
151 /

104 o %

=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKXXKXKKKXM6/1-6700505-00030XX
Diff0l1 for No.14005

No()]:[f(x):{3x2+k ; x<=3D, ’Noozz(f(x):{kxz—m ; x<-3D

4x+9 ; x>3 Tx+k ; x>=-3
bx*+5 x<-2 bx+26 ; x<=-3
NoO3=|f(x)=|3x+Tx+a ; -2<=x<=4|} ,NoO4=|f(x)=| ax+b ; -3<x<6
83 +x : x> 4 3x+a x>=06

No05 =[f(x)=(x-2)+5]

fx)=7x"-3
a=2 a=6 a=>5 a=238
No06=| b=22 | ,N007=[b:2} 7N008:[b:4}’ ’N008:[b:3}
c=2.1
d=201
45 /
/
40 | /"
//
35 /
/
/
/
30+ //
251 //
/
20 //
15+ //
//
10+ //
\\ -
. I I e e
A 1 2 3 4 5 6 7 8
5
=101

X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXKXKXXXKXKXKXXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK



):9:0:0:9:9:0.0:9.9.9:9.9.9:9.9.9.9.9:9.9.9:0.0.:0.9.9:9.0.0:0:9.9.0.0.:0.9.9:0.0.0:9.9.9.0.0:0.9.9.9.0.0:0.9.9.0.0:0.9.9.0.0.0:0.9.9.0.0.:0.9.9:0.0.0.:0.9:0.0.9:0.9.9.0.0:0.9.9.0.0.0:0.9.9.0.0.¢
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Diff01 for No.14157

No()]:[f(x):{3x2+4 ; x<=4D, ’N002:[f(x):{4x2+k ; x<-2D

kx+28 ; x>4 kx+31 ; x>=-2
Yrax—4 N x<-3 19+ax x <=-4
NoO3=|f(x)=| bx*-4 ; -3<=x<=4|}, ,NoO4=|f(x)=| bx+a ; -4<x<=3
24 + x K x>4 Sx+b x> 3

No05 =[f(x)=x+5]

fx)=8x"+5
a=2 a=5 a=4 a=17
No06=| b=22 | ,N007=[b:4} 7N008:[b:7}’ ’N008:[b:3}
c=2.1
d=2.01
45- /
/
40 //
/
35 /
//
30 /'/
/
/
/
25 /’
/
/
20- /
15 //
i
101 //
5—""
- SN T R S S S SR
-54
-10
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